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TOURISM ADMINISTRATION AND MANAGEMENT
Paper 111

Time Allowed : 2% Hours] [Maximum Marks : 150

Note :— This paper consists of Seventy Five (75) multiple choice questions, Each

question carrying two (2) marks. Attempt All questions.

1. According Lo the UNWTO definition, there are four different characteristics

to define and measure tourists' activity.
(A) Situations, purpose of travel, time, health
(B) Income, family, location, culture
(C) Time, space, boundary-crossing, purpose of travel
(D) Boundary crossing, location, time, income.
2. The term ‘sustainable tourism’ refers to :
(A) level of tourism arrivals which can be sustained over a period of time

(B) Tourism development which commands the support of the local

population.

(C) Tourism activities which are in harmony with the envrionment in the

long term.

(D) To sustain the burden of tourists in a particular destination
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3. In reference to tourism GHNP stands for :
(A) Great Himalayan National Park
(B) Gigantic Himalayan National Park
(C) Great Himalayan National Perspectives
(D) Great Himalayan New Perspectives.

4. Who is the pioneer of Travel Business Organization ?
(A) Phillip Kottler (B) Robinson
(C) J. Smith (D) Thomas Cook

5. Except in the case of Burma, Indian culture spread to South-East Asia through

the medium of :

(A) Buddhism

(B) Jainism

(C) Buddhism and Jainism both

(D) Brahmanical cults
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3. viw & wHed § GHNP &8 Fft= w1 & 7
(A e feramd FvEw T
(B) wEhfes feme e T
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(B) ¥ wER
(©) g i = wiEr 26
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6. Arrange the following monuments in correct chronological order and select

the correct answer from the codes given below :
(i) Tomb of Rabia Daurani
(if) Tomb of Akbar
(iti) Tomb of Safdar Jung
(tv) Tomb of Humayun
Codes :

(a) (&) () (d)
A @) (iii) (iv) (1)
(B) Guv)y (D) (@) (11d)
(C) G(v) ) (&) (£)
(D) (&) (@) () (#)

7. ‘Sabre’ is an acronym for Semi-Automated Business Research Environment.
It was developed in 1957. It was first experimented in 1960 by the IBM group

for American Airlines for its operations. Its headquarters is in :
(A) New York (B) Washington D.C.

(C) South Lake, Texas (D) Manchester
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8. A sampling in which each and every item in the population has an equal
¢hance of inclusion in the sample and each one of the pessible samples, in

case of finite universe, has the probability of being selected is called :

(A) Cluster random sampling

(B) Simple random sampling

(C) Sequential sampling

(D) Both (A) and (B) are correct

9. The technique meant for big inquiries extending to a considerably large

geographical area like entire country is known as :

(A) Sequential sampling

(B) Systematic sampling

{C) Cluster sampling

(D) Multi-stage sampling

TBC-29/15ET-1II 8
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10. A tentative assumption, made in order to draw out and test its logical or

empirical consequences, is called as :

(A) Aim (B) Objective

(C) Hypothesis (D) Assumption

11. What is Space Marketing ?

(A) It is a tendency of the buyer to purchase the cheapest brand available

in the market

(B) It is the pre-purchase research activity carried out by a prospective

consumer.

(C) Tt is the promotional effort of the firm through which it buys space in
newspapers and inserts its ad supplement in the newspaper to reach

the readers of such newspapers.

(D) It is the set of those bargaining tools that uses to get the best deal from

the seller.
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12. The final marketing mix should be decided according to :

(A) The commands of the top brass

(B) Need of the marketing manager

(C) Result of marketing research surveys and interviews of prospective

clients

(D) Limitations imposed by the promotion mix and product mix.

13. Junagarh fort of Bikaner is categorized as :

(A) Brick fort

(B) Stone fort

(C) Mud fort

(D) Desert fort
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14. Ghoomar is famous folk dance of :

(A) Odisha

(B) Rajasthan

(C) Uttar Pradesh

(D) Madhya Pradesh

15. Fischer index uses :

(A) Arithmetic average (B) Geometric average

(C) Harmonic average (D) All the these

16. What is the IATA code of Shimla ?

(A) SLA

(B) SIM

(C) SIC

(D) SLV
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14. TR F@ | A6G dwgS € 7
(A) =g
(B) 4™
(C) TW WY
(D) WA W
15. fpm guws e wam s ¥ ?
(A) sEnfodE S (B) waiafas e
(C) wOeE 3T M) A =i
16. frmen #1 JATA (sudiw) %z ¥ & 7
(A) SLA (WHTEL)
B) SIM (TH.3ETR.)

(€) SIC (Twm.3m.4.)

(D) SLV (ug.uad)
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17. Match List I with List II and select the correct answer using the codes given

below it :
List-I List-II

(@) Bypass attack (1) Small erratic activities are made
to surprise and confuse market.

(b) Frontal attack (2) This makes it difficult for
competitors to defend.

(¢) Envelopment attack (3) Attacking the strength of
competitors by outdoing.

(d) Guerilla attack (4) Competitors choose new and
unrelated produets.

Codes :

(@) (b) (e) (d)

A (2) (3) (1) (4)

(B) (4) (3) (2) (1)

c @ (2) (4) (1)

D 1) (2) 3 4@
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18. Assertion (A) : The level of tourism interest and activity in a specific area
often depends on a combination of both physical and human geography that

come together, making certain locations more attractive than others.

Reason (R) : Climate also influences the level and type of tourism activity.

(A) Both (A) and (R) are true and (R) is correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not correct explanation of (A)

(C) (A) is true but (R) is false.

(D) (A)-is false but (R) is true.

19. Shimla is hill station but Kangra is :

(A) Hachure

(B) Valley

(C) Pass

(D) Sub-hill station
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© =4

M) F9-TEEt HUTE

TBC2915/ET-11I 19 P.T.O.



20. World's largest natural lake is :
(A) Chilka lake
(B) Waular lake
(C) Caspian sea
(D) Mediterranean Sea
21. Tourism is :
{A) Interlinking of history, cultures and architecture.
(B) Interlinking of cultures, architecture and accommodation.

(C) Interlinking of cultures, architecture, wildlife, accommedation and trans-

portation network
(D) Amalgam of subjects
22. Why are electric kettles provided in 4-star and 5-star hotels ?
(A) So that guests can drink hot water
(B) So that they can make tea/coffee on their own.
(C) So that they can use this water for washing purposes

(D) So that they can take hot water for the next phase of the itinerary.

TBC-2%15ET-1IT 20




20. fava =1 T9d 93 WHloH e wEE € 7

(A) faww siw
(B) TR ®Wia
(C) HfRwE qr
(D) YA FR
21, W EmE ?

(A) sfem, Tepf AR argEen N 9w H SiE
(B) wEpfa, angwen i HEm Mo 7 oS
(C) wFfa, argwel, TasEd, AEM R TiEed Aees & A 7 OSe
(D) fawdi =1 wiEwEm
29, 4-faam oft s-foar el o fagn Soet # WA ® W e ?
(a) fowd fe affe w wa @
B) foe@ & 3 FT3-2 FE/FE F0 G
() food 5 38 9@ & 97 & fou v & 65

D) foma & 3 oo @ 5w F= oA & for ™ sw @ w6
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23. A duplex is a room with :

(A) AC.
(B) 2-storeys connected by stairs
(C) Room service facility
(D) An extra bed
24. What is a Cocktail ?
(A) It is liquor mixed with fruit juices
(B) It is a combination of fruit juices, well garnished but without alcohol
(C} It is a type of wine
(D) It is a type of draught beer.
25. How many hotels of ITDC have been sold off till July, 2002 ?
(A) 24
(B) 18
(C) 22

(D) 26

TBC-29/15/ET-ITT 22



23. T EHERE (GwQ) @ w0 A ¥ 7
(A) WL
(B) ifgdl g @ St
() wRF Far g
D) TF wforE o
24, Wiwed ¥ T ?
(A) well @ TH N WY
(B) ﬁﬁ@mmmmﬁmmﬁ-%tﬁmﬁm
(C) UH wwA F IWHE
(D) TF WA Fl Fw &R
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26. I the guest wants to check out of the hotel but does not want to take his
luggage along with him, then the most appropriate step for him to take would

be to :
(A) Deposit his luggage in the apartment of the staff of the hotel or a friend.
(B) Deposit his luggage in the hotel's cloakroom
(C) Deposit his luggage at the site that he is about to visit
(D) None of the above
27. Hotel Maurya belongs to :
(A) Asian hotels
(B) ITC group
(C) Oberoi group
(D) Hotel Corporation of India
28. Founder of Hotel Taj Mumbai was :
(A) Jamshedji Tata (B) Nusli Wadia

(C) Ghanshyam Das Birla (D) Dhiru Bhai Ambani

TBC-2915/ET-11I 24
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29. When was Project Tiger launched in India ?

(A) April, 1981

(B) March, 1972

(C) March, 1980

(D) April, 1973

30. Montego Bay Coastal Resort is located in the country :

(A) Jamaica

(B) Spain

(C) Italy

(D) Israel

31. The European Travel Commission was founded in ;

(A) 1928 (B) 1938

(C) 1948 ) (D) 1958
TBC-29/1VET-11I 26



29,
(A) 30, 1981
(B) w4, 1972
(C) wrd, 1980
(D) &0, 1973
30, Hram A wnem fad fFm A fem § 2
(A) HEHI (B)
(C) =i (D)
31, 7N Fm wEEE B owem wE E 7
(A) 1928 (B)
(C) 1948 (D)
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32. The

(A)

(B)

(C)

(D)

communication semantic barriers can be minimized, if one :

Uses familiar words

Clarifies the shades or nuance

Uses words with positive connotations

All of the above

33. A policy was set forth by IVOTO in a research paper entitled ..................... )

which was submitted to the Twenty-second General Assembly held at Ankara

in the year.......cccccceeeenns :

Keeping in view the above two blank spaces, point out the correct answer

from the following :

(A)

(B)

(C)

(D)

Study on Human Envirbnment. 1971
Study on Biological Environment, 1972
Study on Physical Environment, 1973

Study on Conservation of Environment, 1974

TBC-29/15ET-1II . 28




32. dar # mdm amel ® o fRm oW ogwa €Ak FRo

(A)

(B)

(C)

wEH & YE] # Y5 6
ad-9 3R gE-iE W R HFE 8

v % s sl B wgE w ¢

mﬂwﬁaﬁwﬂﬁmﬁwﬂgmﬁmﬁﬁvﬁmgﬁq:

(A)

(B)

(C)

(D)

WAE gatEter W FATE, 1971

Hfags qaET W OAETE, 1972

fqs watarm WOISEE, 1973

T % WA T AR, 1974
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34.

35.

36.

“Doi-Maach” is the delicacy associated with the state of :

(A) Kerala (B) Manipur

(C) West Bengal (D) Gujarat

For Golf Sport Tourism, maximum number of tourists visit India from :

(A) US.A.

(B) UK.

(C) Japan

(D) New Zealand

The foundation of Jama Masjid of Delhi was laid down by :

(A) Emperor Akbar

(B) Emperor Jahangir

(C) Emperor Shah Jahan

(D) Aurangzeb

TBC-2915ET-1II 30




34, wgm & fag ‘S W' few T4 | FEW R 2
(A F= (B) HimER
(©) fmsHE FE (D) W

35. Tew wiE whed @ fom swma A afywon gdew wE | WWOF 7
(A) 3Fusu. (USA)

(B) 3%. (UK
(C) w9
D) S

36. feedlt @1 wmm wheR # A fEwe g wEl T 49 2
(A) WHRE HFFE . .

(B) WHR FEN
©) T v

(D) TER T
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37. Match List-l1 with List-II and select the correct answer from the codes given|

below it :
List-I List-IT

(Monuments) (Place)
(@) Badshahi Masjid (f) Ajmer
() Taj Mahal (#) Lahore
() Jama Masjid (izi) Agra
(d) Chashma-i- Nur (tv) Delhi
Codes :

(a) (5) (e) (d)

A) @ (1) (@)  Gu)

(B) () (i) (i) (i)

(C) o) (2zt) (iv) (&)

(D) G (iv) (&) (z)
TBC-29/15/ET-11T 32




37.  FA-1 F G-Il # e gafen wiew i R kA @ w8 W v = of
s g e

LIS | qE=-11

(¥TTEH) (Farm)
(@)  FEymE A (i) =
(b)  ATHTES (if) R
ey = wfER (iif)  #ATTR
(d) =TT (i) et

we

(a) (&) ) (d)

(A) (i) (i) @iy Gw)

(B) (i) (i12) (1) (1)

(C) @iy Gv) @

(D) (i) (iv) (1) (1)
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38.

39.

Nishat Bagh in Srinagar, Kashmir was developed by :
(A) Emperor Jahangir (B) Munim Beg
(€) Asif Khan (D) Emperor Shah Jahan

As per directives of ASI, no construction work is permitted around a protected

building within a sphere of :
(A) Two hundred metres
(B) One hundred metres
(C) Three hundred metres
(D) Fifty metres

Information regarding any tbufist product bound in a form of booklet for

prospective tourist is known as :
(A) [Itinerary (B) Brochure

(C) Pamphlet (D) Coupon
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38.

39,

40.

s, v % fema am fead g fawfos fea o @ 2

(A) TUrE FErR (B) wm™ am

(C) anfaw &= (D) wgR ymEsE

TUR.ATR. (ASD) & TRyean UF @i Yad & 9nl R fFe iem = s

fafor = =1 orEla @ ¥ 7

(A) & & W=

(B) UwF ® #HA

(C) ™ @ e

(D) TEE Hi

welt vdew # fom oferm ® w0 H & 9Hew TR F AN T gEA w9 s

1
(A) #EHSE (B) Taarforam
(C) TepeR (Fe=n) D) FH
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41. The full form of ASI is :

(A) All Students Institution

(B) Archaeological Survey of India

(C) Awviation Statistics of India

(D) Aviation Society of India

42, Indian classical music is broadly divided into :

(A) Khyal and Thumari

(B) Hindustani and Carnatic

(C) Khyal and Tarana

(D) None of the above

43. Name the document which was issued by the Portuguese to ensure safe journey

from the Pirates :

(A) Dastak (B) Visa

(C) Cartez (D) Passport
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41 ummEd. (ASD ® 7 w9 § $A fomn W ¥ 7
(A) e mEe wEgyn (fEe o W)
(B) AEdetsise T8 16 I (WA qUee wdgm @)
() fawem Wi A#e e (e e e
(D) ufamym AEEd st wvEm (andE e S )
42, wiEm weEm g @ famn w9 8 fE feafs e e e ® 2
(A) wmHE dAn g
B) Tz I wete
(©) wEm 3T T
) W E R FR

43, SO SRIES W1 AN SO S OHg SvEsl 4 giee A & i 23 # e gmterst

g e = @
(A) =% (B) &
(C) e M) IHIE

TBC-2915ET-III 37 PTO



44, An organization structure, according to Koontz and O'Donnel, should be

designed to :

(A) Clarify, who is to what and who is responsible for what results.

(B) Remove obstacles to performance caused by confusion and uncertainty

of the assignment.

(C) Furnish decision making and communication networks reflecting and

supporting enterprise objectives.

(D) All of the above

45. “Charbagh” layout around their principal architecture was adopted in Medieval

India by :

(A) Tughlaks

(B) Khiljis

(C) Mughals

(D) Lodhis
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4. FT AT F IR 0F W H A EEs far i o=
&) Tw= A S fow wW o wA § oy §En Foaes $ =
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46,  According to J.K. Rosen :

(A) Control is that function of a system, which guides it to achieve predeter-

mined objectives by the predetermined policies and decisions.

(B) Control is that function of a system, which guides it to achieve

Pre-determined objectives by the present policies and decisions.

(C) Control is that function of a system, which guides it to achieve prede-

termined objectives by organizations.
(D) Control is a complex function of complex organization system,
47. Among the following which forms the part of Tourism planning process ?
(A) Basic infrastructure
(B) Finance
(C) Human Resources

(D) All of the above
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48.  The Organization for Economic Cooperation and Development (OECD) in a

seminar held at Estroil released a report, in which :

(A} Much of the discussion turned on the fact that tourism is most viable

tool for economic multiplier effects.

(B) Much of the discussion turned on the fact that tourism is by its nature
somewhat different from other sectors of economy, since it is an industry

based on movement of people rather than goods.
(C) Favours giving tourism the status of industry
(D) Favours Tourism should be in Public Private participation.

49.  Point out the organization which is a professional association that works

for the conservation and protection of cultural heritage places around the

world :
(A) UNESCO (B) TUOTO
(C) UNWTO (D) ICOMOS
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50. © Which one of the following is a part of the research work on the correct

lines is necessary to collect adequate and dependable data ?

(A) Submission

(B) Evaluation

(C) Execution

(D) Award

51. Purposive or deliberate selection of particular units is known as :

(A) Deliberate non-probability sampling

(B) Probability sampling

(C) Random sampling

(D) None of the above
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52. This consists of two lists of declaration/convention and their significances

and the candidate has to match an item in one list with an item in the

other and select the correct answer from the codes given below it :

List-1

(Declaration/Convention)

(@) Kyoto Protocol

(b) Qubec Declaration

(¢) Manila Declaration

(d) Berlin Declaration

Codes :
(a)
(A) (3)
B) 1)
) (2)
(mm @

TRC-29/15ET-1II

(b)

(4)

(3)

(1)

(2)

(e)
(1)
(2)
(3)

(3)

(d)

(2)

(4)

(4)

(1)

46

(1)

(2)

(3)

(4)

List-11
(Significiances)

Promotion of tourism other than

economic activity

Biological  diversity and

sustainable tourism

Climate change and greenhouse
gas emission

Eco-tourism and sustainable

tourism.
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53. PLC is defined as :
{A) Price line control followed in the aviation industry.
(B) Population level cycle is used for the study of population growth.

(C) A production goes through various stages such as introduction, growth,

saturation and decline in sales and profits.

(D) PLC can not be defined.
54. The Digha beach is located in the state of :

(A) Kerala (B) West Bengal

(C) Gujarat (D) Maharashtra
55. Pongal is celebrated in the state of Tamil Nadu as a :

(A) Religious festival to promote religious tourism

(B) Cultural festival to promote tourism

(C) Harvest festival by the people

(D) All of the above
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56. Assertion (A) : The prolonged stresses of globalized living have created

“Wellness Tourism.”

Reason (R) : Problems occur if all facilities are not provided in harmony
for the growth of the Wellness Tourism.

(A) Both (A ) and (R) are true and (R) iz the correct explanation
(B) Both (A) and (R) are true, but (R) is not the correct explanation
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true.

57. Which one of the following is not correctly matched 7

(A) M.S. Subhalaxmi — Classical music
{B) Ravi Shankar — Sitar
(C) Amjad Ali Khan — Sarod
(D) Bismillah Khan — Flute

58. Which one of the following is correctly matched ?

(A} Nishat Bagh — Babur

(B) Ram Bagh — Humayun

(C) Shalimar Bagh - Jahangir

(D) Bagh-e-Bahu — Ranjit Singh Dogra
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59. The two important rivers — one with its source in Jharkhand (One known
by different names in Odisha) and another with its source in Odisha merge
at a place short distance from the coast of Bay of Bengal before flowing into
the Bay. This is an important site of wildlife and biodiversity, and is a protected

area. Select the correct site from the following :

(A) Bhitarkanika (B) Chandipur

(C) Probalpur (D) Simplipal
60. Which one of these countries has no coastline ?

(A) China (B) Hungary

(C) Spain (D) Sweden
61. Saraswati river flows in :

(A) Allahabad (B) Banaras

(C) Mathura (D) Nowhere
62. Series of overlapping averages are called :

(A) Past averages {(B) Moving averages

(C) Future averages (D) None of these
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63. Consumer behaviour is :
(A) The study of individual consumer
(B) The study of all consumers’ behaviour
(C) (A) and (B) both
(D) None of the above
64. Identify the correct option :
(A) All travellers are tourists
(B) AIll travellers are visitors
(C) All visitors are fourists
(D) All tourists are visitors

65. The marketing concept is a customer orientation backed by integrated
marketing aimed at generating customer satisfaction as the key to satisfying

organizational goals. This concept of marketing has been given by :
(A) Stanton (B) Tousley
(C) Kotler (D) Hansen

66. Which of the following is not relevant to fare construction methods ?
(A) SITI (B) SITO

(€) SOTO (D) SETE
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67. Match List-1 with List-II and select correct answer using the codes given

below it :
List-I List-II

(Folk Dance) (State)
(@) Bhavai _ (1) Mizoram
(b) Thabal (2) Assam
(¢) Cheraw (3) Manipur
(d) Bhortal (4) Rajasthan
Codes :

(@) (b) () (d)
A @ O @ @
B @ @© @ @
© @ B W @
m @ @& @O @

68  From whom did Maharaja Ranjit Singh acquire the world famous diamond

Kohinoor ?
(A) Nadir Shah (B) Zaman Shah
(C) Shah Shuja (D) Dosh Muhmmad
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69. Match List-1 and List-II and choose the correct answer from the given

codes :

List-1 List-IT
{¢) Haji Begum (1) Taj Mahal
(b) Sher Shah Suri (2) Humayun Tomb
(¢) Ustad Isa (3) Qila-e- Kuhna
(d) Sheesh Mahal, Agra (4) Shah Jahan
Codes :

(@) (b) (c) (d)
(A) (2) (3) (1) (4)
(B) (3) (2) 4) (1)
(C) (2 (1) (4) (3)
(D) (4) (3) (1) (2)
70. Match List-I1 and List-II and choose the correct answer from the given

codes :
Listd List-11

(@) Dungeshwari Hills (1) Can be seen from space

(b) Walls of Mewar's (2) Buddha -achieved nirvana
Kumbalgarh Fort

(¢) Aravalli Ranges (3) Rashtrapati Bhawan is located

(d) Raisaina Hills (4) Qutub Minar is located

Codes :

@ B @
A @ @O @ ®
B O @ @ @
e @ @& @
m @ @ (1 W

TBC-2915ET-111 58



89. HHI-
W

(@)
(b)
(e)
(d)

e :

(A)
(B)
()
(D)

[ &
e
qHr-1
w9
T
I I
sfremes,
{a) (b)
20 3
@ (@
(2) (1)
4 (3)

(c)
(1)
(4)
(4)

(1)

(d)
(4)
(1)
(3)
(2)

(1)
(2)
(3)
(4)

-1 @ gem wem o Y R o W owm = =

w11

AT

T w1 HEE
fmen-u-mE
REE G

70. g1 W FA-11 R ghfew ity o AR el W 2 W wEm F wE I
g

(@)
b)

(e)
(d)

e

(A)
(B)
(C)
(D)

TBC-29/15ET-11I

qai-1

o % G R
i dErn

SE

T el

@ (B e
2 @M @
1 @ @
4 @ @
2 @ @

()
(3)
4)
(1)
(4)

69

(1)
(2)

(3}
(4)

gEr-11
s ¥ A W wEd ¥
g% A FaAm e &

Tzt vl fem ®
w7 WAR fem R

P.T.O,



71. 'The famous traditional Patachitra painting is the artisanal product of

state :
(A) Odisha (B) Kerala
(C) Gujarat (D) Rajasthan

72. Among the following which can not be included in the Tourism historical
stages :
(A) Grand Tour
(B) Silk Rente
(C) Pt_iid Holidays
(D) Growth of Imperialism

73.  Which of the following commissions has been particularly concerned with

developing countries 7

(A) Brandt Commission

(B) Brundtland Commission

(C) Outdoor Recreation Resources Review Commission

(D) None of the above
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74. The list-I includes some of the countries and list-II bears their currencies.
List out the correct mateh from the codes given below it :

List-1 List-11
(Countries) (Currencies)
(@) Poland (1) Naira
(b) Nigeria (2) Yen
() Japan (3) Rand
() South Africa (4) Zloty
Codes :

(@)  (b) ) (d)
(A @3 @ (1 @
B @ M@ 3) (4
)y @ (@2 3y 4
m @ (@D 2 @

75. One of the important characteristics of a Travel Agency is :

(A)

(B)

(C)

(D)

It is a cultural broker

Intermediary between students studying tourism and the institutions
teaching tourism.

It is an intermediary between out bound tour operators and tourists for
selling package tours

None of the above.
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